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Java=L 23991 hlnto ha'so

o2lpn £¥

TV Nnyw Java-n noa
Java SE (Standard Edition) 6.0 (update 7)
N¥INN D20 nan =
JRE (Java Runtime Environment) that includes:
= JVM (Java Virtual Machine)
= Standard Class Library

NIN'9N DWW N7'an =
JDK (Java Development Kit) that includes:
= JRE
= Command line tools: compiler, debugger etc.
http://java.sun.com/javase-a Ty'mI NN =
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Java
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Eclipse

nalde nin'o nateo

Javaa nin nin'o7 na o'knnn IDE
Tiyi Windows ,Linux -2 magnin'? [n1
(JDK1x) JRE 7w 1911 mpgnin wAIT
www.eclipse.org :nfan WMNX

nIKIIN) zip yaipd (classic 3.4.1 X012) NN DTN =
(0NN INNA 2IWNNN D220 N12N-2 MIPNN

DINNN 7Y 71T2 OIR =

onIn WNKa Eclipse Tm'?%7 oy 'oT :nnon
Eclipse 2 “Hello World” n'1on n¥ i nin'o :xnart

IDE = Integrated Development Environment
:DUNNXY NS 75/ naYwnn n2o
(editor) voju 1Y =
(browser) n'xajpn 1o =
(compiler) 1 Tnn =
(JRE) n¥1 n7T n2ao =
(debugger) nix:awn nom =
LLTIVE R
.0Nlj7a wnnwa 2 IDE -n — Eclipse
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NI U9 VTN W1 AWNNN [ND'T
(1" 18 '0") n*ax1'2 Noo :(bit) nraro
nira'o 8 Yw nxp :(octet, byte) v

29€n 019’6

DTAIN 0'019'V 8 :(D"a'v'M™MI) D' TIO! 0'OID'Y
:D'0IYD 0D 707 DTVIY NDYA
byte, short, int, long :0'M7 D900
float, double :D'"'wnn D90N
char ;DN
boolean :D1N'™I2 DY
VT 7207 DA 0™712'N D27 D'0I9'V :N™19N 'OID'Y
= (Qwnina "201') DN 7907 Dai
D'YUTN N9 10190 1 TANYT 715 NIdNNN
D'2INI NITNNN NITNIM NIRDAIT

= *

Type Size Value Range
long 64 bits -263 , 263.1
o~ int 32 bits =231 2811
short 16 bits -215— 2151
byte 8 bits -128 —127
double 64 bits beyond the scope of the
prUnn float 32 bits | discussion
Dim { char 16 bits most alphabet languages
o7 DWW { boolean |“1 bit” true, false ¢
niraro F¥ nidrya
>>> >> << 2171 'ONNMIK NN LNIRNY N0 7Y AT
& (nrra'o MivpId DM I DRI 0D W7) AND
s (") XOR
| (7"1) OR
3 11
5 101
-5 11111111111111111111111111111011
3&5 1
315 111
3<< 2 1100
5> 2 1
=5 >> 2 11111111111111111111111111111110
-5 >>> 2 00111111111111111111111111111110 10
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public static void main(String[] args) {
long 1 = 2000000000+2000000000; //|==-294967296

int i = (int) 1.99999999; Jli==1
float £ = (float) 1.99999999; If==
£ =5/2; I f==

£ = (float) (5/2); I f==

£ = (float) 5/2; IIf==25

£ =5/ (float) 2; If==2.5

rt a = 2;
SN rt ¢ = a*a; 1/l compilation error: cannot convert from int to short
}
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http://java.sun.com/docs/booksl/jls/third_edition/html/conversions.html
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"Hello " + "World" is "Hello World"
"19" + 8 + 9 is "1989"

:String njF7nnnn NIYPa9%? niknAIT
String strl = “Hello”;
char ¢ = strl.charAt(0); /c=="H
String str2 = strl.toUpperCase(); //str2=="“HELLO"
int strLength = strl.length(); /i==
ATy
http://java.sun.com/javase/6/docs/api/java/lang/String.html
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N1IPNN NM902 0"V K7 D'0I9'Y '97X DY
Java

Java API (Application Programming :Tiy'n
Interface)
http://java.sun.com/javase/6/docs/api/

0'9011 0'2'V'MMD K7 D'0I9'V 1IX D'NIDNND DX
(String) niTnNn ,0YN NIRNAIT

12'0"MM9 11'RY 019'0N NINWn :(reference) non
String myString = “Hello World”

Non-primitive type / \ (object) pzy
1
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7wn X7 [] 2 wnnea

.odds owa int 7w 7wn
int odds|[];

(O-n7nPn)opin—— 0 1 2 3 4 5 6 7

L ‘1‘3‘5‘7‘9‘11‘13‘15‘

odds.length == 8
N2n 712002 0YN 7V nann

hlsl2nhN

90n7 nnnnn "nnn”
Long.parseLong
Integer.parselnt
Short.parseShort
Byte.parseByte
Double.parseDouble
Float.parseFloat
Boolean.parseBoolean

public static void main(String[] args) {
int i = Integer.parseInt(“1”); ==
double d = Double.parseDouble (“-12.45e2”); [/ d==-1245.0
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public static void main(String[] args) {
char ¢ = args[0].charAt(0);
char cl = (char) (c + 1);
System.out.println(c + “\t” + cl);

N jond p'6INIdak HaI¥n
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public class MyClass {
public static void main(String[] args) {
System.out.print(args.length + "\t");
System.out.print(args[0] + "\t");
System.out.print(args[args.length - 1]);
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:command line

N

Run = Run Configurations = Arguments :Eclipse

Output: 4 1 hello world ‘ .
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17w Uppercase -n nx no'oTi {a,b,...,z} -n In n%7apnn nom amd

public static void main(String[] args) { LR e
char ¢ = args[0].charAt(0) ;
System.out.println((char) (c - 'a’ + 'A’));

}

public static void main(String[] args){ 2 e
System.out.println (args[0].toUpperCase()) ;

}

public static void main(String[] args){ 7 {9500

char ¢ = args[0].charAt(0) ;
System.out.println(Character. toUpperCase(c)) ;
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